
PN
(Bar)

Tube ITEM CODE

Basınç Boru 
Çapı

PARÇA KODU

6 M8x1 27 15,5 12 12 163160608

8 M10x1 27 15,5 12 14 163160810

6 M10x1 27 12 12 14 163260610

8 M12x1,5 29 14 12 17 163260812

10 M14x1,5 30 15 15 19 163261014

12 M16x1,5 32 17 17 22 163261216

15 M18x1,5 40 25 24 27 163261518

18 M22x1,5 40 23,5 24 32 163261822

6 M12x1,5 31 16 12 17 163360612

8 M14x1,5 32 17 14 19 163360814

10 M16x1,5 34 17,5 17 22 163361016

12 M18x1,5 38 21,5 17 24 163361218

14 M20x1,5 40 22 24 27 163361420

16 M22x1,5 43 24,5 24 30 1633616222

                              K506            12

M
(BSPT) L1 AA1 AA2l1

LL DB
PN100

L
NB
PN 315

S
YB
PN 630

    EDD-M KONİK METRİK DİŞ DİRSEK

    WE-M-BSPT Male Stud Elbow Fittings

KURTMAN




